

$$\int \frac{e^{\tan(x)} \sin(x)}{\cos^3(x)} dx = \int \frac{e^{\tan(x)} \cdot \tan(x)}{\cos^2(x)} dx \quad \text{⑧}$$

$$\boxed{t = \tan(x)} \\ \boxed{dt = \frac{dx}{\cos^2(x)}}$$

$$= \int e^t \cdot t dt = e^t \cdot t - e^t + c = \\ = e^{\tan(x)} \tan(x) - e^{\tan(x)} + c$$

$$\int e^{2x+e^x} dx = \int e^{2x} \cdot e^{e^x} dx = \int (e^x)^2 \cdot e^{e^x} dx = \quad \text{⑨}$$

$$\boxed{t = e^x} \\ \boxed{dt = e^x dx}$$

$$= \int t^2 \cdot e^t dt = e^t \cdot t - e^t + c = \\ = e^{e^x} \cdot e^x - e^{e^x} + c$$

אינטגרל פונקציות טריגונומטריות

$$\int \frac{\sin(x) \cos(x)}{a^2 \cos^2(x) + b^2 \sin^2(x)} dx = \int \frac{\sin(x) \cos(x) dx}{a^2 (1 - \sin^2(x)) + b^2 \sin^2(x)} = \quad \text{⑩}$$

$$= \int \frac{\sin(x) \cos(x) dx}{a^2 + (b^2 - a^2) \sin^2(x)} dx = \int \frac{t dt}{a^2 + (b^2 - a^2) t^2} =$$

$$\boxed{t = \sin(x)} \\ \boxed{dt = \cos(x) dx}$$

$$= \frac{1}{2(b^2 - a^2)} \int \frac{du}{u} = \frac{1}{2(b^2 - a^2)} \ln|u| + c =$$

$$\boxed{u = a^2 + (b^2 - a^2) t^2} \\ \boxed{du = 2(b^2 - a^2) t dt}$$

$$= \frac{1}{2(b^2 - a^2)} \ln |a^2 + (b^2 - a^2) \sin^2(x)| + c =$$

$$= \frac{1}{2(b^2 - a^2)} \ln |a^2 + (b^2 - a^2) \sin^2(x)| + c$$

$$\int \frac{\sin(x) \cos(x)}{a^2 (\cos^2(x) + \sin^2(x))} = \frac{1}{2a^2} \int \sin(2x) = \frac{1}{2a^2} \left[ -\frac{\cos(2x)}{2} \right] + c$$

: \$\beta\$ \$\gamma\$ \$\delta\$ \$a^2 = b^2\$ \$ab\$ (\*)

$$\int \frac{3x dx}{\sqrt{9+x^2}} = \frac{3}{2} \int \frac{2x dx}{\sqrt{9+x^2}} = \frac{3}{2} \int \frac{dt}{\sqrt{t}} = \quad (9)$$

$$\boxed{\begin{array}{l} t = 9+x^2 \\ dt = 2x dx \end{array}}$$

$$= 3\sqrt{t} + C = 3\sqrt{9+x^2} + C$$

$$\int \frac{dx}{\sqrt{x}(1+\sqrt[3]{x})} = \int \frac{6t^{\frac{2}{3}} dt}{t^3(1+t^2)} = \quad (13)$$

$$\boxed{\begin{array}{l} t^6 = x \\ \sqrt{x} = t^3 \\ \sqrt[3]{x} = t^2 \\ dx = 6t^5 dt \end{array}}$$

$$= \int \frac{6t^2}{1+t^2} dt = 6 \int \frac{t^2+1-1}{1+t^2} dt =$$

$$= 6 \left[ \int dt - \int \frac{dt}{1+t^2} \right] =$$

$$= 6 \left[ t - \arctan(t) \right] + C =$$

$$= 6 \left[ \sqrt[6]{x} - \arctan(\sqrt[6]{x}) \right] + C$$

$$\int \frac{\sin^3(x)}{\cos(x)} dx = \int \frac{(1-\cos^2(x)) \cdot \sin(x)}{\cos(x)} dx = \quad (14)$$

$$\boxed{\begin{array}{l} t = \cos(x) \\ dt = -\sin(x) dx \end{array}}$$

$$= - \int \frac{(1-t^2) dt}{t} =$$

$$= \int \frac{t^2-1}{t} dt = \int t - \int \frac{1}{t} =$$

$$= \frac{t^2}{2} - \ln|t| + C = \frac{\cos^2(x)}{2} - \ln|\cos(x)| + C$$

$$\int \frac{x dx}{\sqrt{x+1}} = \int \frac{2t dt}{\cancel{t} \sqrt{\cancel{t}}} \quad (5)$$

$$\begin{cases} t^2 = x+1 \\ x = t^2 - 1 \\ dx = 2t dt \end{cases}$$

$$= \int \frac{(t^2-1) \cdot 2t dt}{\cancel{t}} = 2 \int (t^2-1) dt =$$

$$= 2 \left[ \frac{t^3}{3} - t \right] + C = 2 \left[ \frac{(\sqrt{x+1})^3}{3} - \sqrt{x+1} \right] + C$$

(6)

$$\int \arctan\left(\frac{1}{x}\right) dx =$$

$$\begin{aligned} t &= \frac{1}{x} \\ x &= \frac{1}{t} \\ dx &= -\frac{1}{t^2} dt \end{aligned}$$

$$f' = 1$$

$$f = x$$

$$g = \arctan\left(\frac{1}{x}\right) \quad g' = \frac{1}{1 + \left(\frac{1}{x}\right)^2} \cdot \left(-\frac{1}{x^2}\right) =$$

$$= \frac{x^2}{x^2+1} \cdot \left(-\frac{1}{x^2}\right) = -\frac{1}{x^2+1}$$

$$= x \arctan\left(\frac{1}{x}\right) + \int \frac{x}{x^2+1} dx = x \arctan\left(\frac{1}{x}\right) + \frac{1}{2} \int \frac{dt}{t} =$$

$$\begin{cases} t = x^2 + 1 \\ dt = 2x dx \end{cases}$$

$$= x \arctan\left(\frac{1}{x}\right) + \frac{1}{2} \ln|t| + C =$$

$$= x \arctan\left(\frac{1}{x}\right) + \frac{1}{2} \ln(x^2+1) + C$$